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2. He put his bag down and sat under the tree.
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A)4,3,1,2 (B)3,4,2,1

©4,2,1,3 (D)3,4,1,2
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(A) Advertisement (B) Adwartisement

(C) Advertisment (D) Advrtisement
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(A)Hereitis. (B) Here they are. (C) It’s okay. (D) Here you are.
Mamtaisaclevergirl ...................... she got the first prize in the quiz.

(A) therefore (B) because (C) but (D) or

Mickey slapped Jumbo : 4124 UBLALSY UE 53U
(A) Why did Mickey slapped Jumbo ? (B) Why do Mickey slap Jumbo ?
(C) Why did Mickey slap Jumbo ? (D) Why Mickey slapped Jumbo ?
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